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Calculating :
(M 3800-800=3000

3800
- 800
3000

@ 7528-5306=2222
7528
-~ 5306
2999

@ 9966-947=9019

9966
- 947

9019

@ 4214-215=3999

4214
- 215

3999

@ 4950-1950=3000

4950
- 1950

3000

® 6925-1362=5563

6925
- 1362

5563

3000-1444=1556

3000
- 1444

1556

) 8106-6481=1625

8106
- 6481

1625
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PO BV iRk (=)
ubtraction of 4-Digit Numbers (ll)

@) 4586-3125=1461

4586
- 3125

1461

® 2715-1308=1407

2715
- 1308

1407

© 1125-924= 201

1125
- 924

201

2 2020-1999=21

2020
- 1999

21



HEF

Arrange the followings :
(@ 423838 ~ 3883 ~ 3388 K & /N HEF]

Arrange 3838, 3883 and 3388 in descending order:

3883 > 3838 > 3388

@ 29460 ~ 9046 ~ 9064 /N E K HEF] -
Arrange 9460, 9046 and 9064 in ascending order:

9046 < 9064 < 9460

@ #1817 17181781 K E /35 :

Arrange 1817, 1718 and 1781 in descending order:

1817 > 1781 > 1718

@ 424006 ~ 604 ~ 4060 /h £ A $E 5]
Arrange 4006, 604 and 4060 in ascending order:

604 < 4006 < 4060

leE e FHEAETERN  FIHEX

Fill numbers in the spaces to make the solutions :

@ 80~ 30~ 50 @ 1550 - 35
(30]+[50]=[80] (15]+(35]=50]
(30]-[30]=[50 (50]-[15]=(35
(30]-[50]=[30 (50]-[35]=(15

@ 140 ~ 360 ~ 500 @ 100 -~ 54 ~ 46
(140]+ [360] = [500] (5414 [46]=[100]
(500| - (140 = [360 100]-(54]=[46)
(500| - [360| = [140 100]-[46]=[54
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